PRACTICE 6 KEY — STOICH IN-CLASS REVIEW

My abbreviations...

TN = given or “teacher number”

CE = coefficients

MM = molar mass form periodic table

1) (TN)metA x (CE) mol B = (answer) mol B
(CE) mel-A

2) (TN)gA x 1moelA x (CE)melB x 6.02x10%%r.p. B = (answer) r.p. B
(MM) gA (CE) melA  1melB

3) (TN)EA x 1melA x(CE)melB x (MM)gB = (answer) g B
224 A (CE) melA 1 melB

4) (TN)melA x (CE) melB x 6.02x10%r.p. B = (answer) r.p. B
(CE) molA 1 melB

5 (TN) #p-A x 1meolA X (CE)melB x 224 L B = (answer) LB
6.02x 102 £p-A (CE)melA 1molB

6) (TN) LA x 1melA x (CE) melB = (answer) mol B
224 A (CE) melA

7) (TN) #=p—A x 1melA X (CE)metB x (MM)gB = (answer)gB
6.02x 102 £p-A  (CE)molA  1melB

8) (TN)gA x 1lmelA x (CE)melB x 224L B = (answer) LB
(MM) g-A  (CE) mel-A 1mol B

9) (TN) #p-A x 1meolA X (CE) melB = (answer) mol B
6.02 x 10Z2 £p-A  (CE) melA

10) (TN) LA x 1melA X (CE)molB x 6.02x10%r.p.B = (answer)r.p.B
224 LA (CE) melA 1 molB

11) (TN) metA x (CE) melB x (MM)gB = (answer) g B
(CE) melA 1 molB

12) (TN) #p-A x 1lmelA X (CE)melB x 224L B =(answer) LB
6.02 x 102 £p-A  (CE) melA 1 melB

13) (TN) gA x 1melA x (CE)melB = (answer) mol B
(MM) gA  (CE) melA




